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We are concerned with Braess’s paradox of traffic flow. Braess’s paradox is caused by selfish routing of each
driver who makes shortsighted decision based on currently available information. Because such a paradox is observed
everywhere, there have been numerous researches to solve it; i.e., game or decision theoretic approaches. These
previous researches mainly focused on the driver’s decision making to resolve this paradox. In other words, the
previous researches where input of decision maker is given and they seek a rational strategy to avoid being paradox.
While, we focused on information services side to make traffic flow desirable. Thus, in our research, the strategy
of each driver is given, and we pursue how to control the driver’s input to make traffic flow more easily.

We introduce Q-learning to acquire the strategy for solving the paradox. In this paper, we show the results
that information center, which distributes information to the drivers, successfully acquire the control traffic. In
addition, we analyze the situation of traffic flow that requires the information service strategy.
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